>
A & 0l & AF 2 E A A
20219 = S0l at LB A el MEX&
SN FOIMEXED
HE: HASS MO X
¢ I ZMEHE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
=0l & T2 13,152,074 13,383,751 AN231,677
= 7,897,298
s 288,400
= 1,123,679
Al 3,842,697
MASE 42y X 9,516,323 8,388,840 1,127,483
= 7,286,306
s 122,000
< 825,497
Al 1,282,520
R R o, 7,958,715 6,647,473 1,311,242
= 6,192,925
< 764,700
Al 1,001,090
I=MESTNOYRAS 29 928 3,480 A2,552
201 Let24d] 280 1,680 A 1,400
01 At 22l 280 1,680 A 1,400
OJz=dE2HRAs H&=E
70,000& * 2% = 23] 280
202 044l 648 1,800 21,152
01 SLHOIYI 648 1,800 21,152
OJI=Ma2d FMFX
81,000& = 22 * 2% » 23] 648
a4 HASE NA 168,000 192,000 A 24,000
307 glz2tol & 168,000 192,000 224,000
01 92724l 168,000 192,000 224,000
Oxael MASE mUALESEE N2
14,000,000 * 12& 168,000
NAAS EZAHE =8 45,000 0 45,000
201 L4l 5,000 0 5,000
01 At 22l 5,000 0 5,000
OXSGAEFEHE =8 29 5,000
207 RO ] 40,000 0 40,000
01 2339l 40,000 0 40,000
OHM5I XNGAMIEEHHEE 2 40,000
mE=g= 17,562 16,245 1,317
308 XM SOIH 17,562 16,245 1,317
08 WSII20HetE = 17,562 16,245 1,317
On=s30(414%) 17,562
HH =0 7,610,600 6,171,233 1,439,367
= 6,088,400
= 761,100




2N
X ZH -
L= B

el

Off &t 24

=

i
2m

761,100

= N W

7,610,600
6,088,400
761,100
761,100

6,171,

233

1,439,367

zZ W

7,610,600

7,610,600
6,088,400
761,100
761,100

6,171,

233

1,439,367

=z N H

60,400
48,300
3,600
8,500

45,

935

14,465

=z N H

60,400
48,300
3,600
8,500

45,

935

14,465

= N W

60,400
60,400

48,300
3,600
8,500

45,

935

14,465

H

56,225
56,225

43,

580

12,645

H

56,225
56,225

43,

580

12,645

2
B
i)
[l

8l EH8HHl X &

W

56,225

56,225
56,225

43,

580

12,645

=N W

1,557,608
1,003,381
122,000
60,797
281,430

1,741,

367

A 183,759

12
-
B
z
m
H0
02
0
o

H

Al

237,065

168,946
78,119

261,

967

N 24,902

307 21201 A

H

Al

237,065

168,946
78,119

261,

967

N 24,902

10 A SXAEHE2SEHIEXR

ONSAgdH 29

OXNAT&dy 2 (XHA)

H

Al

237,065
227,065

168,946
68,119
10,000

261,

967

N 24,902
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Jn-Jin oz

B b 12

!

=
i

2

= [

162,500

122,000
30,500

190,000

A 37,500

307 21201 &

=

162,500

122,000
30,500

190,000

A 37,500

&
e
~
40
Jo
oy

O
S
=
s
0
oz
Ho

S0 8XTHHIRH™ AL

= [

162,500

152,500

122,000
30,500

190,000

A 37,500

ik
rJ

2 X

= M W

,003,006

802,405
60,180
140,421

1,004,000

A 994

307 21201 A

= M W

,003,006

802,405
60,180
140,421

1,004,000

A 994

= M W

,003,006
,003,006

802,405
60,180
140,421

1,003,006

H

Al

3,790

3,030
760

54,400

A 50,610

H

Al

3,790

3,030
760

54,400

A 50,610

H

Al

3,790
3,790

3,030
760

54,400

250,610

H

Al

14,610

11,690
2,920

8,000

6,610

A

Al

14,610

11,690
2,920

8,000

6,610

W

Al

14,610

14,610

11,690
2,920

8,000

6,610

W

Al

93,150

74,520
18,630

71,000

22,150




AN FRMSTA L
HE: HASS MEOE XL
S9l: HAS NEX (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
301 LEHZ 93,150 71,000 22,150
= 74,520
Al 18,630
01 MEI2EZE 45z 93,150 71,000 22,150
Osl¥IIssE2 X& 93,150
= 74,520
Al 18,630
FEHSLISSE AMEXA 7,200 47,000 A 39,800
= 5,760
Al 1,440
301 LEPEXF 7,200 47,000 239,800
= 5,760
Al 1,440
01 MEIBEE 053 7,200 47,000 A 39,800
OFdsIs=d N& 7,200
= 5,760
Al 1,440
NS S = 10,287 79,000 AB8,713
= 8,230
< 617
Al 1,440
301 LeHBAF 10,287 79,000 A68,713
= 8,230
< 617
Al 1,440
01 MI28E+06l= 10,287 79,000 AB8,713
OXg&da=s 10,287
= 8,230
< 617
Al 1,440
FEMEAHE XA 36,000 21,000 15,000
= 28,800
Al 7,200
301 LEXZ 36,000 21,000 15,000
= 28,800
Al 7,200
01 MEIBZE 06z 36,000 21,000 15,000
OFEXM=AA X& 36,000
= 28,800
Al 7,200
FOUMSTAAMHA A 2= 1,086,434 1,076,945 9,489
= 435,408
s 166,400
< 48,791
Al 435,835
HAANS B3 19,424 26,976 AT,552




A FOUMET R D
M. =0IMST2AAH A BEHH 2=
¢l HYHS B3 (cho &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@i HRE2
= 3,400
Al 16,024
HeAX S 6,340 10,260 N 3,920
201 Bt 49d]| 1,300 2,500 A 1,200
01 AP 22| H| 1,300 2,500 A 1,200
O AIZXH 21D 650,000 = 23| 1,300
301 dEtE M= 5,040 7,760 N2,720
01 Al B & A 46 2 5,040 7,760 N2,720
OdeA XIS =4I 7,000& = 10& = 12&8 840
Osled X HE M| 20,000 = 5% = 12&€ 1,200
O#AXNTS =ttt| 50,000& = 5 x 4& 1,000
OA X &MY 750,000 * 1 750
OAFKXF OH & Y| 750,000 * 1A 750
OAMNYI X 50,000& = 132 = 10¢ 500
2EH s 3,200 4,000 A 800
201 Yet2 | 3,200 4,000 £800
03 A2 E H| 3,200 4,000 A 800
OREM SH 3,200
Mol 15 22| 3,084 4,716 N 1,632
201 LBt | 360 420 A B0
02 22244l 360 420 A 60
OMal#& 2522 & Sal|
30,0008 = 12&€ 360
202 o4 | 324 1,296 N972
01 2L Hl 324 1,296 N972
OMols R4
81,000& x 2% x 2& x 13| 324
307 2iz2to| & 2,400 3,000 A 600
01 sed =t 2,400 3,000 A 600
O=2 Mol maoty 2=4AHH K&
300,0008 = 8Jt=+ 2,400
A 23X 6,800 8,000 A 1,200
== 3,400
Al 3,400
301 et A= 6,800 8,000 A 1,200
= 3,400
Al 3,400
01 AISIE & A 452 6,800 8,000 A 1,200
OxXa=? 212 X 6,800
= 3,400
Al 3,400




A FOUMET R D
M. =0IMST2AAH A BEHH 2=
CHRl: =0IMETRAMHA XNEHH 2= (2 &HH)
_ RE]
S - BB () - HEAY - BES Ol At o %@ﬁ HRE2
FOIMETANE A XNEHAH RS 31,440 30,792 648
FOIMEITRANH AN 29 9,440 15,232 N5,792
201 et d| 1,200 3,400 A2,200
01 AP 2t 2| bl 1,200 3,400 N 2,200
OFoMETRAHA EEE2 ME
200& = 2= * 50004 200
OFQMBXANYA FHED 2B
10,0008 * 100K 1,000
202 044 3,240 5,832 A2,592
01 2L Y| 3,240 5,832 A 2,592
OZFDMEXAMNHIA L2ET
81,000 = 2% « 22 % 1038 3,240
203 €2 F=&d| 5,000 5,000 0
03 Al ZH =X 2= XIH| 5,000 5,000 0]
OMASES MEOHH[HZH 5,000
EHEHAl EXIMHE 24 22,000 12,000 10,000
306 23 22,000 12,000 10,000
01 s 2 22,000 12,000 10,000
OFEHEHAl EXNME 2H 22,000
OFEE EEAMHIA JIEIR=E 1,027,462 1,008,673 18,789
= 435,408
Fag 166,400
& 45,391
Al 380,263
MNASS Moty X 11,788 16,084 N4 ,296
201 LBt 9H]| 2,900 2,900 0
01 AP 22| H| 2,900 2,900 0
O=F0l EXANHA g2 =X 500
OEXANEA ESEOHY E2= M
2,000 * 400 800
O23=XNAIYE EZCHHE M &
100! = 6,0000H 600
O3 %UlLls 2HC B8 100& = 10,0008 1,000
202 o4 H| 3,888 5,184 AN 1,296
01 2Ll 3,888 5,184 AN 1,296
U= MU AHN =X
81,000& * 29 * 22 x 123 3,888
203 &R F & 5,000 8,000 A 3,000
03 AIZH =& 2= X H| 5,000 8,000 A 3,000
O%USHE MUIAHA XNJAHEH =X 5,000
MNIEXES X 70,442 93,951 A 23,509




AN FRMSTA L
Y FOMESXIAAMEA BLHH 25
SHPl: UES SHMHIA JBRE (S &2)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
< 11,148
Al 59,294
307 glz2tol & 70,442 93,951 A 23,509
< 11,148
Al 59,294
04 DI2HHALALSE E X 2,865 5,070 N2,205
OEHEHALSI = XITHSl XI& 2,865
10 ALSISXAIEEER2IHEX 67,577 88,881 A 21,304
OMEI=XE2s 29 52,500
< 10,500
Al 42,000
OAtgl=XIg s 29 (AHH) 11,819
OAl - & ASIS X2 SAXNHRIME ==X
& 3,258
o XN FAS EFE Al 1,086
= 215
Al 871
o A3 =2 XIE 23l 2,172
< 433
Al 1,739
NEASEEZEAN 29 61,613 58,246 3,367
< 7,000
Al 54,613
201 L2l 2,800 2,800 0
01 At 22l 2,800 2,800 0
OXNSAMNIEH oM 3AFHY
70,0003 * 20 23| 2,800
307 2Iztol ™ 58,813 55,446 3,367
< 7,000
Al 51,813
10 AL SXAIEEE2EH EX 58,813 55,446 3,367
OXNZSASEHEAM ELsH(2IH L 2l2d|
) 35,000
< 7,000
Al 28,000
OXNZSASEHEAM EHsH(2FH & 2l2d|
JIREA] 23,813
NEAS SXAAHMH = 1,200 1,400 2200
301 LPEAZ 1,200 1,400 2200
09 ALAHIXIE S 1,200 1,400 A 200
Og&2gd 3o & 1,200
22=X K& 476,085 433,686 42,399
= 380,868
< 19,043
Al 76,174




AN FUHEX S D
Hu: ZoMBNAMHA BYHH 7=
Sel: AEE SHMUIA JYRE (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 LEHZ 476,085 433,686 42,399
= 380,868
< 19,043
Al 76,174
01 MEI2EZE %06z 476,085 433,686 42,399
OZS=X KNEAY 476,085
= 380,868
= 19,043
Al 76,174
NS ASIHEI A EXALE KT R 205,000 201,000 4,000
as 164,000
< 8,200
Al 32,800
307 21201 A 205,000 201,000 4,000
as 164,000
< 8,200
Al 32,800
05 RIZt2IEt = 205,000 201,000 4,000
OXYArel MHIA SEXA 205,000
s 164,000
< 8,200
Al 32,800
NSAASI MBI A EXALY 2E8] X2 3,000 3,000 0
= 2,400
Al 600
201 £B-2%| 3,000 3,000 0
s 2,400
Al 600
01 At 22l 3,000 3,000 0
OXG A MHI A ETIMY E22 ME S 3,000
s 2,400
Al 600
XA =X X2 2,100 4,640 A 2,540
307 glz2tol & 2,100 4,640 A 2,540
11T M SXAISEEX 2,100 4,640 A 2,540
OXNSAMBEFHEAH XNSHS 2,100
AT SeAtel el X 15,000 15,000 0
= 7,500
Al 7,500
201 et 7,500 7,500 0
= 3,750
Al 3,750
01 At 22l 7,500 7,500 0
OAtdlZelAtd 29 7,500
= 3,750




A FOUMET R D
M. =0IMST2AAH A BEHH 2=
el REH SHAHIA JIHRS (ol @)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Al 3,750
301 et A= 7,500 7,500 0
= 3,750
Al 3,750
01 Al E & X 462 7,500 7,500 0
OEXAEIA XA 7,500
= 3,750
Al 3,750
BASXNESLHAH KSAS 90,029 86,076 3,953
307 QI2t0| & 90,029 86,076 3,953
11T AISIEXAIEEX 90,029 86,076 3,953
OB -4 Ss==HH &9 90,029
ZCW3 &9 X 8,565 9,550 A 985
307 QI2t0| & 8,565 9,550 985
11 A EXAIEEX 8,565 9,550 A 985
OZC 3 AFSE XA 8,565
BAHAEXAAE (5 Led) 2H 4,240 4,640 A 400
201 et 4,240 4,640 A 400
01 AP 22| H| 1,600 2,000 AN 400
OBAHEXNHHAAH (5|Ue)EE S 1,600
02 B32ZH| 2,640 2,640 0
OBZAEXNAHAHAAE KX E2=H| 2,640
S08s UFE SEMHA XS 67,200 67,200 0
= 47,040
Al 20,160
201 et 9| 40,200 33,600 6,600
= 28,140
Al 12,060
01 AP 2t 2| bl 40,200 33,600 6,600
OZ2XsdEs 5 Y58 SSANHA 2FHH|
X& 40,200
= 28,140
Al 12,060
301 et M= 27,000 33,600 6,600
= 18,900
Al 8,100
01 Al E& A 252 27,000 33,600 A 6,600
OE2XdEs 5 48 S AMUHA N 27,000
= 18,900
Al 8,100
Sos dsg SEMHA KR (KA) 11,200 14,200 3,000
201 LBt ]| 8,800 11,000 N 2,200




A FOUMET R D
Hu: FOMBXAHIA BSHH P
Sel: AEE SHMUIA JYRE CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 AP 22| H| 2,400 3,000 A 600
Oo=gXsdBss =8 =8 2,400
03 A2 EH| 6,400 8,000 A 1,600
O2XsdEs g 868 (s) 6,400
301 et A= 2,400 3,200 A 800
09 SHAIAHI X & 2 2,400 3,200 A 800
OeXlsdEes o2 g Y 319 Ma(s) 2,400
AANYERO M2 8,108 10,504 AN 2,396
SXHAXN 22 S XA 7,508 9,284 N1,776
201 LBt Y| 2,564 3,284 ANT720
01 AP 22| H| 2,000 2,000 0
OSEXIANER 28 21258 2L 1,000
Oaele 222 3t 21,0008 * 50004 500
od=2adt 28 258 ¢ 2,500 * 2004 500
02 232 H4| 564 1,284 AT20
OSETAXNE XS IHA 84,000& * 13 84
OEETANXE SA 22 40,000 = 12&€ 480
202 044 1,944 3,000 A 1,056
01 2L Hl 1,944 3,000 A 1,056
OsSEXT A2 gRF&X
81,000& x 3H x 22 x 43| 1,944
301 YEtE A =2 3,000 3,000 0
01 Al B & A 462 3,000 3,000 0
OYZAE U =257
20,000 = 15001+ 3,000
S AN 2H22 600 1,220 AN 620
201 gEt24d| 600 1,220 AN 620
01 AP 22| H| 600 1,220 AN 620
Oo%2x s&Es ¢ 50,000& * 12€ 600
AMBIE2X JlE8 XM 37,904 48,395 A 10,491
= 8,221
Al 29,683
XA =X DB 2= 37,904 48,395 A 10,491
= 8,221
Al 29,683
AMNSIEXNNE B2 9,504 10,560 A 1,056
& 1,901
Al 7,603
201 LBt | 9,504 10,560 A 1,056
& 1,901
Al 7,603




2N
X ZH -
L= B

el

FOIME XA
NEEPPIITRE S*
NANE LT I 75

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 AP 22| H| 9,504 10,560 A 1,056
OLL AlsIEXdE 22 (176Y) 9,504
= 1,901
Al 7,603
ChXHEJIE s8 X 22,000 36,335 AN 14,335
= 4,400
Al 17,600
301 dEtE M= 22,000 36,335 AN 14,335
= 4,400
Al 17,600
01 Al B & X 26 2 22,000 36,335 A 14,335
olistsE= 22,000
& 4,400
Al 17,600
SS0IEF0XJAAH 6,400 1,500 4,900
o= 1,920
Al 4,480
301 et N3 6,400 1,500 4,900
o= 1,920
Al 4,480
01 Al E& A %52 6,400 1,500 4,900
OS&0/gx0 HAS 2S X 1,000
&< 300
Al 700
o=stolg=0 H3A44 & X3 5,400
o 1,620
Al 3,780
2IIE&E2e| & X 1,172,773 2,342,730 N 1,169,957
o 98,320
Al 1,074,453
22N NS 1,172,773 2,342,730 AN 1,169,957
=} 98,320
Al 1,074,453
=222 X 108,293 142,620 N34,327
307 QI2t0| ™ 108,293 128,148 A 19,855
02 QI2tAAMAIE E =X 12,485 19,730 AT ,245
OZVNKZBCH AILE=SEX(8IA) 12,485
03 QIZE X PHAESIHIEX 95,808 108,418 N 12,610
O2IK2CH 29Hl & 21AHH (8 A) 95,808
=Y A} 11,900 13,500 A 1,600
201 LBt | 7,900 7,900 0
01 AP 22| d| 700 700 0
Os=28z29 ¢ =3d M
700 « 1= = 1,0000H4 700
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AN FUHEX S D
¥y 2))PEzel L Y
©el: RVNRIBX =NS (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ogztet 100,000 * 14 100
301 LA S 3,200 4,000 A 800
09 HALAHIXI &3 3,200 4,000 A 800
O6.25& A HIt R34 =4 K&
8,000& = 400 3,200
Nol=52 & JIE A} 3,000 3,000 0
201 L2l 3,000 3,000 0
03 &Ar2 I 3,000 3,000 0
OMall=52 & At 3,000
EEAE EH 10,000 120,000 A 110,000
401 AIEHI L 2] 10,000 120,000 A 110,000
01 A& HI 10,000 120,000 A 110,000
OESAE &l 10,000
AE - AW 2 441,844 703,446 A 261,602
= 109,872
< 142,850
Al 189,122
AE - ST e 441,844 703,446 A 261,602
= 109,872
< 142,850
Al 189,122
SAZ23MEALS 30,368 30,368 0
301 LA F 30,368 30,368 0
12JIE 243 30,368 30,368 0
O & dJelgdd =5 2H
18,000& = 6004 = 123 12,960
O & djjelga Ml 8§
890& * 1001 » 60JH A = 12 6,408
ORgEdA HXE &X 100,000& * 2504 & 2,500
OMsds 25gAs HOAEZ X
25,0003 * 1000 & 2,500
Oda2s8A MzJl ZFEIY & AM4EI] X
5003 * 5000 = 28 » 1200H & 6,000
Al SZotE 2te| 6,132 11,234 25,102
201 £B-2dH| 1,400 1,400 0
01 At 22/l 1,400 1,400 0
OalZeotdzte 228 MZE 3,5008 » 20004 700
OORIOIAZBOHMESS DY HHYA HYEX B
X = 10,000& * 700K 700
202 oddl 972 4,344 N3,372
01 = LH o4 1l 972 4,344 A3,372




A FOUMET R D
M AE QM 2L
Sl AE - 3BF MBE CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
SEERE R EIEEETS
81,0008 x 2% x 2Y x 33| 972
206 M = Hl 2,040 2,550 A510
01 XHZ H| 2,040 2,550 A510
OD|ME 2H0121E & ¢
8,500& ~ 800 * 3= 2,040
301 LBt A= 1,720 2,940 N 1,220
12 JIEtE A& =2 1,720 2,940 N 1,220
OAHI XA ZSAMZAIR ESH|
50,000& x 2% = 10¢ 1,000
OAME4LH B B4
10,000& = 624 = 123 720
oglol2al2te XN|ME 29 210,000 216,000 A 6,000
= 105,000
= 42,000
Al 63,000
307 212t0| & 210,000 216,000 A 6,000
= 105,000
o= 42,000
Al 63,000
05 QIZ2tREF 2 210,000 216,000 A 6,000
Oelol Salzae XM X 210,000
= 105,000
= 42,000
Al 63,000
LAT AEXNEDZ 29 15,600 20,600 A5,000
& 15,600
301 et A = 15,600 20,600 A5,000
& 15,600
09 SHAIAHI X & 2 7,000 5,600 1,400
O AHIX ASAMAANK S=H| 7,000
o 7,000
12 J|EtE A= 8,600 15,000 AN6,400
OosdA QMEE XS 6,000
& 6,000
OAl==X4 2|0 dZo B2 2,600
o 2,600
AQIE ABotdae SE8Y SMe3 2,244 2,244 0
= 1,122
Al 1,122
201 et 9| 2,244 2,244 0
= 1,122
Al 1,122
02 232%4| 2,244 2,244 0
OADIE AlEotNM22] S8 SAlH| 2,244




<

n0

Kio

Hl w

A 246,000

A 246,000

A 246,000

500

200

200

300

H3r
Wikd
RIS

416,000

416,000

416,000

5,500
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AN FRMSTA L
B AE QM B2
&S AF - 23 A2 (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OfIMES otd 2tel 300
= 150
< 150
HY I ZH (FUMEX 2D 225,678 231,497 25,819
= 65.712
Al 159,966
Jl2Zl 43,211 41,419 1,792
JIE23l 43,211 41,419 1,792
201 LB-2d| 24,851 34,819 A 9,968
01 At 2t 2l 21,011 30,019 A 9,008
ORA2Y JI23Hl 160,000 * 123 1,920
OANREE FA(SAMX S) 160,000& » 128 1,920
O#FASII 225 7
200,000& = 6l = 23l 2,400
O=SAI(ZE8I)Lx=
220,000& * 100 = 12& 2,640
OYa=xJ| dxz 50,900& = 12& 611
O= &l 8,000 = 249 « 5 » 123 11,520
02 8323l 3,840 4,800 A 960
ORERS 320,000& = 12& 3,840
202 oddl 14,160 2,400 11,760
01 = LH o4 1l 1,920 2,400 A 480
OHl&Z28 2ol 1,920
02 FAHHYI 12,240 0 12,240
OfMAAs NECEHB 170,000& * 6 = 12& 12,240
203 Y2 E X Y| 4,200 4,200 0
04 EAN2IER2FEHI 4,200 4,200 0
ORAN2EIRFEHI 350,000& = 12& 4,200
oled 2 oy 182,467 190,078 AT,611
= 65,712
Al 116,755
QAR A (S &ALl 22l AL) 149,076 158,049 28,973
= 65,712
Al 83,364
101 1A dl 149,076 158,049 A8,973
= 65,712
Al 83,364
03 RIAHAZZRE > 149,076 158,049 28,973
OSEMAZA(SHHEARR, 85 3) 38,353
cJIE2=s 1,988,313& * 128 23,860
= 16,428
Al 7,432
ocdIg 1,988,313& * 40% * 75% *» 23| 1,193




SH: EOIMETAD
HM: HY2HAY| (O MEX2D)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa HDE2

o H A S| 1,988,313 * 60% * 23l 2,386
cHIsZIFdsY 101,020& = 18L 1,819
oSxgesd 50,0008 * 128 600
o MAAMALY 150,000& = 12& 1,800
o84 90,000& = 12& 1,080
oM MFAYH| 120,000& = 12& 1,440
o X4 110,000& * 12& 1,320
o JIHIE & Hl 80,000& * 12& 960
clIE4E 120,000& = 128 1,440
oAN2I2RFE 18,942& x 2A12F = 128 455
OSEAABCIAHESHARA, 452) 35,843
oJlga 1,879,080& x 12& 22,549
= 16,428
Al 6,121
odIZLGE 1,879,080& * 20% * 75% * 23| 564
o H A S| 1,879,080 = 60% *» 23l 2,255
cHXRIFIIY 95,510& * 18¢ 1,720
ocELYUIFH 50,000& = 12& 600
oMAAEASY 150,000& = 12& 1,800
oE G 90,000& = 12& 1,080
o[ MFAYH| 120,000& = 12& 1,440
o XA 110,000& = 128 1,320
o JIHIE &= Hl 80,000& * 12& 960
o N2 ELE 17,909& = 5A12F = 128 1,075
clExY 40,000& * 128 480
OSEAABCIAHESERARA, 12582) 39,844
ollza 2,105,267& * 128 25,264
= 16,428
Al 8,836
odIZGE 2,105,267& x 40% * 75% * 23| 1,264
oY A F I 2,105,267& * 60% * 23] 2,527
cHXRIFIIY 106,319& * 18L& 1,914
ocELYUILH 50,000& = 12& 600
oMAXHALE 150,000& = 12& 1,800
oE G 90,000& = 12& 1,080
o HHFAH| 120,000& * 128 1,440
o XA 110,000& = 128 1,320
o JIH 2 X H| 80,000& = 12& 960
oANZAHA2ELE 19,935& x 7Al2F = 128 1,675
OSEAAACIAHESRARRH, 55 2) 35,036
oJl22 1,905,907& » 12& 22,871
= 16,428
Al 6,443




SH: FOIMBXRD
Ha: YHSAAU(FUMBIAD)
Sel: o2y CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ocdIZxd 1,905,907 * 25% * 75% * 23| 715
o HEF | 1,905,907& * 60% * 23| 2,288
CcHIIRSFIIN==E 96,8573 = 18Y 1,744
oS4 4g 50,0008 = 129 600
oXMATFA+Y 150,000& * 12& 1,800
ogxd 90,000& = 12& 1,080
o Z AU GAH| 120,000& * 128 1,440
oXRad 110,000& » 12&8 1,320
= JHH 2 =4l 80,000&  12& 960
cAAZ2R2+E 18,1613 = TAIZ2t = 128 218
ol (2Y - RRAE o) 33,391 32,029 1,362
101 14l 33,391 32,029 1,362
03 RIAHAZZ2THE = 33,391 32,029 1,362
O2Y - 2FAE 4 (HEARE, 458) 33,391
cJIEg= 1,861,293& * 12& 22,336
c¥dI2xd 1,861,293& » 20% » 75% *23| 559
o H A F I 1,861,293& * 60% * 23| 2,234
cHXRSFIHE 92,330 * 18 1,662
oM ATHSH 150,000& * 12& 1,800
o F MG A 120,000& * 123 1,440
oRl@x& 150,000& » 12& 1,800
oA 110,000& * 12& 1,320
cIIExd 20,000& = 123 240
MNegs(Foazxa) 671,118 591,898 79,220
HEAHH K= 671,118 591,898 79,220
LHEHH X = 671,118 591,898 79,220
701 JIEtSI HEHES 671,118 591,898 79,220
01 JIEtSI HE &S 671,118 591,898 79,220
OS2 EEINH dE=S 671,118




